
gga70-7n, Bewertungsbogen: 3x5 Farbstufen, exp0=1, expg=1, inw=1, xchart=1

5/9 Farbstufen: U04w − U08w U08w − U12w U12w − U16w = Weiß

U04w U05w U06w U07w U08w U08w U09w U10w U11w U12w U12w U13w U14w U15w U16w

0,00 0,5? 1 / 0 0,5? 1,00 0,00 0,5? 1 / 0 0,5? 1,00 0,5?0,00 0,5? 1 / 0 0,5? 1,00
visuelle
Skalierung:

Beurtei-
lungsanteil

Beurteil-
lungsanteil

625, 656, 687, 718, 750, 750, 781, 812, 843, 875, 875, 906, 937, 968, 1000, 

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00


